Total number of printed pages—4
7MAT 1[6-II(B)]
2024

TEACHING OF MATHEMATICS
Paper : BED-P6-B2
Full Marks : 40
Time : Two hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.

Answer any two questions from (a), (b) or (c)
of each question from question nos. 1 to 3
and any two from 4.

i, Sx2=10

(@) Explain Vygotsky’s concept of Zone of

Proximal Development with a neat
diagram.
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(b) - What is enactivism ? Discuss with an
example how enactivism is used in
teaching of mathematics.
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- (c¢) Describe the relationship between art
and mathematics.
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2. 5x2=10

(a) What is learning by discovery ? Is there

any relationship between learning by

discovery and Heuristic method of
teaching ?
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(b) Write how would you plan remedial
teaching strategies based on perceived
causes. Take example of ‘addition of

fractions’.
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(c) Describe how example, non-example
and counter example help in formation
of concept of mathematics.
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3. Sx2=10
(a) Distinguish between ‘general objectives’
and ‘specific objectives’ used in a lesson

plan of mathematics.
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(b) What are the salient features being
considered to construct a mathematics
question paper ?
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(c) What is meant by ‘Introduction’ and
‘Closure’ of a lesson plan ?
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4.  Write short notes on any two of the
following : 5x2=10
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(@) Unsuccessful students in mathematics
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(b) The mathematics laboratory
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(c) Models in teaching of mathematics
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(d) Curriculum reforms
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